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QID : 201 - In the following question, select the related word pair from the given alternatives.

Badminton: Court::?:?

Frofefad uy & fow e fowed & & el wsg g &1 gful

Options:
1) Skating : Rink
Wi : R

2) Chess : Ground

RS : A

3) Swimming : Grass

eIl

4) Polo : Sky

Tral : SHIHTRT

Correct Answer: Skating : Rink

Candidate Answer: Skating : Rink
Wi : R

QID : 202 - In the following question, select the related word from the given alternatives.
Teacher : School : : Artist : ?
oo vy & faw e fowed! & @ W&l wsg &1 gful

e : foemey : : FaTOR : ?
Options:
1) Theatre

2) Cards

GIRY

3) Pen

HAH

4) Acting

g

Correct Answer: Theatre

Candidate Answer: Theatre

QID : 203 - In the following question, select the related word from the given alternatives.
Pentagon : Figure : : Truck : ?
oo vy # faw e fosed! & @ ¥eiad wsg &1 gl

TgYS : Pl :: gh: ?
Options:
1) Heavy

2) Vehicle

dargd

3) Engine

ESEl

4) Goods

BIEIC

Correct Answer: Vehicle
dred

Candidate Answer: Vehicle
dred
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QID : 204 - In the following question, select the related letters from the given alternatives.
RATS : XGZY : : RIPE : ?
Fafafed vy o fau e f9eedl § 9 Fald sieri & gHu

RATS : XGZY : : RIPE : ?

Options:
1) KVMA
2) XPUL

3) XOVK
4) XNVG

Correct Answer: XOVK

Candidate Answer: XOVK

QID : 205 - In the following question, select the related letters from the given alternatives.
FEAR : PCCH::VANS:?

oo vy ® faw e fosed! & @ W& sierf gm &1 gu

FEAR : PCCH::VANS:?
Options:

1) QPYX

2) SHPX

3) PXYB

4) QSZA

Correct Answer: QPYX
Candidate Answer: [ NOT ANSWERED ]

QID : 206 - In the following question, select the related letters from the given alternatives.
LAMP : PXQM: : COKE : ?

Frfoea uy # faw e fowedt & @ Wefia sierl &1 gfHu

LAMP : PXQM : : COKE : ?

Options:

1) GMQA

2) GLAT

3) GLOB

4) GNPC
Correct Answer: GLOB
Candidate Answer: GLOB

QID : 207 - In the following question, select the related number from the given alternatives.
43:7::61:?

fafaRad oy & U T fawed & 9 Wefia @ & gl

43:7::61:?

Options:

1)6

2)7

3)9

4)8

Correct Answer: 7

Candidate Answer: 7

QID : 208 - In the following question, select the related number from the given alternatives.
24:164::32:7

Frafeiad uy o fau e fasedt & § Heftrd I o1 ghul

24:164::32:?

Options:

1) 212
2) 194
3) 132

4) 186
Correct Answer: 212
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Candidate Answer: [ NOT ANSWERED ]

QID : 209 - In the following question, select the related number pair from the given alternatives.

Options:
1)95:45

2)46: 28
3)37:18

4)19:10
Correct Answer: 95 : 45
Candidate Answer: [ NOT ANSWERED ]

QID : 210 - In the following question, select the odd word from the given alternatives.

fufafed vy & fou 7u fawed & ¥ vy wsg & gfu
Options:

1) Forest

aq

2) Tiger

Elo)

3) Lion

4) Elephant

greft

Correct Answer: Forest
a9

Candidate Answer: Forest
a9

QID : 211 - In the following question, select the odd word from the given alternatives.

frafafed uy & faw 7u fieed § ¥ faww wsg &1 gu)
Options:
1) School

2) Worker

AR

3) Driver
EINCY

4) Waiter
IR

Correct Answer: School

Candidate Answer: School

QID : 212 - In the following question, select the odd word from the given alternatives.

fafafad uy & Rou e fawed & 9 faww wrsg & gFul
Options:

1) Write

forem

2) Read
Ue-
3) Listen

fl) Colour
A

Correct Answer: Colour
T

Candidate Answer: Colour
a7

QID : 213 - In the following question, select the odd letters from the given alternatives.

fofafea vy & fow 7u fawed # ¥ fawm sierl &1 gfu
Options:

1) CHM

2) JOS

3) SXC

4) VAF

Correct Answer: JOS
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Candidate Answer: JOS

QID : 214 - In the following question, select the odd letters from the given alternatives.

fafafad oy & U U fawedl & 9 fawm oferi & gul
Options:

1) KQW

2) BHN

3) RXF

4) DIP

Correct Answer: RXF

Candidate Answer: RXF

QID : 215 - In the following question, select the odd letters from the given alternatives.

oo uy & fow e fawed & @ fawy siert 1 gful
Options:

1) FBX

2) PLH

3) VRN

4) GCz

Correct Answer: GCZ

Candidate Answer: GCZ

QID : 216 - In the following question, select the odd number from the given alternatives.

frafafed uy # fau e foswedl & § faww de &1 giAuy
Options:

1) 17-289

2) 26-676

3) 27-729

4) 14-170

Correct Answer: 14-170

Candidate Answer: 14-170

QID : 217 - In the following question, select the odd number pair from the given alternatives.

Frafafed uy # fau e el & 4 favw S g a1 gHe)
Options:

1) 13-16

2)19-22

3)21-24

4)33-38

Correct Answer: 33 - 38

Candidate Answer: 33 — 38

QID : 218 - In the following question, select the odd number pair from the given alternatives.

frafated uy & fau 7u fAwedl & 4 fowm v g &1 ge)
Options:

1)14-21

2) 19-28.5

3)17-25.5

4) 36 — 46

Correct Answer: 36 — 46

Candidate Answer: 36 — 46

QID : 219 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Loathe
2. Living
3. Locate
4. Local

5. Literate

fafafed weal &1 AP T 3 aTd o H & IR |
1. Loathe

2. Living

3. Locate

4. Local
5. Literate

Options:
1) 52143
2) 52134
3) 51234

4) 51243
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Correct Answer: 52143
Candidate Answer: 52143

QID : 220 - According to dictionary, which of the following word will come at FIRST position?
1. Narrate

2. Narrow

3. Naked

4. Naive

5. Nasty

WLHI & IR, FEREd ¥ ¥ HH I Uss Tgd ™ W 3MT?

1. Narrate
2. Narrow
3. Naked
4. Naive
5. Nasty
Options:
1) Naked
2) Naive
3) Narrate
4) Narrow

Correct Answer: Naive
Candidate Answer: Naive

QID : 221 - From the given alternatives, according to dictionary, which word will come at SECOND position?

fau Y el & ¥, WscpIN & SR, BIF T Reg oY WM TR TR
Options:
1) Prodigy

2) Proceed
3) Product

4) Producer

Correct Answer: Prodigy

Candidate Answer: Prodigy

QID : 222 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
RIF, KBY, DUR, WNK, ?

T fehH far 7 B, R @ ueb Ue g 71 iu e et & ¥ 98 TE) Aoy g, St 3igshH Bl T B

RIF, KBY, DUR, WNK, ?
Options:

1) LFD
2) PGD
3) PNC

4) NGB

Correct Answer: PGD

Candidate Answer: PGD

QID : 223 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
PV, UA, ZF, ?, IP

TP 3HH foar man ], o 9 Uw ue g B 1 AT T fawedt #f @ a5 It e g, S s H B 1 R

PV, UA, ZF, ?,JP
Options:

1) EK

2) DL

3)B)

4) DK

Correct Answer: EK

Candidate Answer: EK

QID : 224 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

F,J,0,S,?,B,G

T S e 7 B, R 9 v ue g 71 U e et # ¥ 95 W€ fawed g, St 3 B 1

F,J0,S7?B,G
http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjUwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c#
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Options:
1)Y

2)X

3)z

4)C

Correct Answer: X

Candidate Answer: X

QID : 225 - In the following question, select the missing number from the given series.
14, 16, 30, 45, 62,132, ?,?

fafaRad oy & iU U fawedl § 9 g 8i® 1d Sifon|

14, 16, 30, 45, 62, 132, ?,?
Options:
1) 124, 396

2) 126, 393
3) 82, 243

4) 106, 343
Correct Answer: 126, 393
Candidate Answer: [ NOT ANSWERED ]

QID : 226 - In the following question, select the missing humber from the given series.
6, 25,62, 123, ?, 341
fafafad oy & fu U fawedl 8 9 g 8i J1d Siford|

6, 25,62, 123, ?, 341
Options:

1) 194

2) 156

3) 214

4) 278
Correct Answer: 214
Candidate Answer: [ NOT ANSWERED ]

QID : 227 - In the following question, select the missing number from the given series.
53,19,72,91,?, 254
fafoRad oy & iU U fawedl & 9 g 8i% 1d Sifor|

53,19,72,91,?, 254

Options:
1) 149

2) 163
3) 123

4) 213
Correct Answer: 163
Candidate Answer: [ NOT ANSWERED ]

QID : 228 - In a certain city there are five towers. Tower III is taller than tower II. Height of Tower V is the average of the height of towers I and IV. Height of
Tower II is the average of the height of towers I and III. Height of Tower I is the average of the height of towers II and V. Which tower is the shortest?

ot Tex § U raR €1 TTaR 111, TTaR 11 ¥ S 81 TR V &1 $HaTs laR I 31R IR IV B $aTs o 3Nd g1 TTeR I Bt s <raR I 3R TaR 111 1 TS 1 3N
B TR I BT S <R 11 3R TR V Bt FHATS $T 34 &1 Tad HH TS a1 <lar I 91 2?

Options:

1) Iv

2)V

3)1

411

Correct Answer: IV

Candidate Answer: [ NOT ANSWERED ]

QID : 229 - X said to Y that my sister's father-in-law is your husband's father. How are X and Y related?
XY I el 5 A8 967 & TR TN Ul & O §1 X SR Y U goR I Y Jafda §2
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Options:

1) Y is wife of X's sister's husband's brother
Y, X 31 98 & Ufd & WTS B Ul §

2) Y is sister of X's sister's husband

Y, X &1 98 & ufd B! 989 &

3) X is husband of Y's husband's sister

X, YF U B T Ul ¥

4) X is wife of Y's husband's brother

X, Y& Ul & U # ueht B

Correct Answer: Y is wife of X's sister's husband's brother
Y, X @1 98 & Ufd & WTS B Uedl B
Candidate Answer: [ NOT ANSWERED ]

QID : 230 - From the given alternative words select the word which cannot be formed using the letters of the given word.
VOCABULARY
frafafed fowedl § ¥ 98 Xeg Y off T 1T XMeg & 1&RT BT TANT HP gl a1 ol Gabl:

VOCABULARY
Options:
1) vocal

2) ulcer
3) labor

4) burly
Correct Answer: ulcer
Candidate Answer: ulcer

QID : 231 - If OBSCURE is coded as NARBTQD, then how will THY be coded as?
Jf& OBSCURE &1 %S f NARBTQD foRaT ST € & THY &1 H1s H 5 ferar siamm?

Options:
1) GSB

2) VIA
3) SGX

4) UIz
Correct Answer: SGX
Candidate Answer: SGX

QID : 232 - In a certain code language, 1259 means 'box in the ring', 6941 means 'the square boxing ring' and 5713 means 'put the box out'. Find the code for
'ring'".

foadt fRfya Bis umor & 1259 7 37 § 'box in the ring', 6941 &1 3 B 'the square boxing ring' 3R 5713 1 31 % 'put the box out'l 'ring’' F forT ®re I B
Options:
1)1

2)9
3)2

4)5
Correct Answer: 9
Candidate Answer: 9

QID : 233 - In a certain code language, '+' represents "', '-' represents X', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.

160x40+20+10-2=7?
ot Ay e yw § '+, - S USRI ST B, -, X B USRIA ST 8, X, '+ B} Ui Hdl & 81 '+, '+ &) Ui &2ar 3| Fafif@d uy &1 3w 31 $¥?

160x40+-20+10-2="7?
Options:

1) 328

2) 85

3)52

4) 4

Correct Answer: 4
Candidate Answer: 4

QID : 234 - If 50 % 15 = 70 and 23 % 20 = 6 then find the value of 10 % 4 = ?

T 50 % 15 = 70 3R 23 % 20 = 6 1 10 % 4 = ? BT HF Jd DI?
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Options:

1)6

2) 14

3)12

4)7

Correct Answer: 12

Candidate Answer: [ NOT ANSWERED ]

QID: 235 - If A * B means A is mother of B, A + B means A is sister of B and If A % B means A is daughter of B, then what does C + D % E * F mean?

IEA*BHT SR A BB TR, A+ BB SfH A BB TGARMARZA%BH A HA B EHENC+ D % E*Far o aif g2
Options:

1) Cis daughter of F

CFITHT

2) Cis mother's sister of F

CFH A BITETT

3) Cis sister of F

CFH TR

4) C is mother's mother of F
CFH AT B AR

Correct Answer: C is sister of F
C,FH T EIR

Candidate Answer: C is sister of F
CFH TR

QID : 236 -

Options:
1)2

2) 10
3)7

4) 11
Correct Answer: 10
Candidate Answer: [ NOT ANSWERED ]

QID : 237 - Which of the following terms follows the trend of the given list?
OXXXXX, XXXXXO0, XXXXOX, XXXOXX, XXOXXX,
frofafea & 9 o @1 ug < it g & F1 & oER 72

OXXXXX, XXXXXO0, XXXXOX, XXXOXX, XXOXXX,
Options:

1) XXXXXO

2) XXXXOX

3) XXXOXX

4) XOXXXX

Correct Answer: XOXXXX

Candidate Answer: [ NOT ANSWERED ]

QID : 238 - A bird starts from its nest and flies 3 km North, the turns West and flies 4 km, then turns South and flies 11 km, then turns to its left and flies 4 km.
Where is it now with respect to its nest?

T Ul 3T IS ¥ IS URY IRAT § 3R IR BI 3R 3 fhaiiiex I ar 31 {6 a8 ufdm 3 ¢k 4 fhainiieR 9 IdT 81 IS 91C 98 Sfaivl 3 3R ggaT §
3R 11 fFamiex 9% ISdT & a1 IUF d1C a8 918 3R TSR 4 fhaniier de Ssa1 31 Oiud I o Iqo! Rufa @1 82
Options:

1) 8 km North

8 fardiier W

2) 8 km South

8 faradiex afémr

3) 14 km South

14 fpdiiex g

4) 14 km North

14 fpaniier W

Correct Answer: 8 km South

8 foraiteR gfémor

Candidate Answer: 8 km South

8 foraiiier gfémor

QID : 239 - Two cars start from the same point on a highway. Car X travels North 25 km and then turns right and travels 14 km. In the meanwhile car Y travels 19
km South, then 3 km West, then 4 km South , then it turns left and travels 17 km. Where is car Y with respect to car X?

ot 3153 W <1 BR TP Y TG TRY BT &1 PR X, 25 [haiHiex S B 3R Tl 7 3R R 3 3R gear 14 fpaiier Tadt 31 ST T SR Y, 19 fpamiex
%'F&mﬁ&h?aa?ﬁ%&ﬁ?ﬁﬂ3mu@ﬁ6w4mﬁwaﬁ3ﬁ?m%aﬁ?maﬁaﬁmw17%1113?3?1?11%wx%a’zﬁﬁWYW
?
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Options:

1) 48 km North
48 fpranfier I
2) 10 km South
10 fpaiiiex gfdmr
3) 48 km South
48 fpaicR s
4) 10 km North
10 foranfier S

Correct Answer: 48 km South
48 e afémor

Candidate Answer: 48 km South
48 fpamieR s

QID : 240 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No lemon is sour
Statement II: All sour is yellow

Conclusion I: Some yellow is lemon
Conclusion II: All lemon is yellow

ue H < HU ol T € o o &1 ey 1 3R 11 Tl R B 1 Ut AT ® T S uE 9 § TR 98 e Td aet § i vefia g1 61 emuet fAufa e
B ot fou T st & ¥ pH-g/e -3 i U T S gR1 I8 e ST g g/9%d §, afe PS8l

BYAI: FIE A T T ®
B II: G+ TgT drer &

frwd 1: o den g R

et 11: 9ot fig el §

Options:

1) Only conclusion I follows
IR

2) Only conclusion II follows

Sad sy 11 T8 8

3) Both conclusions I and II follow

ey 1 8IR 11 e §

4) Neither conclusion I nor conclusion II follows

T at feeef 1 98t § 1 & e 11

Correct Answer: Neither conclusion I nor conclusion II follows

1 d feey 1 9t ® 1§ e 11
Candidate Answer: Neither conclusion I nor conclusion II follows

1 A 1 98 ® 1 € s 11

QID : 241 - In the question three statements are given, followed by three conclusions, I, II and III. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All lakes are pools
Statement II: No tanks are pools
Statement III: Some seas are lakes

Conclusion I: Some seas are pools
Conclusion II: Some tanks are lakes
Conclusion III: No lakes are tanks

gy & P 38 T € R omY i frsed 1, 11 81R 111 FMeprel T B 1 3muep! AT R 6 il hue Ied € IR I8 e id et & et elia 21 €11 st ol
HAT ¢ Bl U T st 7 | H1H-91/PH-8 PfEd U § SU gRT 98 AT o1 96 dl /954 8, Il 1S 8l

PYF I: It il e §
HYT I1: DS &b T 81 &
HY III: $S JUZ 2l &

e 1: 35 TE q@ §

eI o ch gl §

e 111: P15 3T ¢ T B
Options:

1) Only conclusions I and II follow
Faq Fps 1 3R 11 LT ]

2) Only conclusions II and III follow
Fad ey 11 3R 111 TEt §

3) Only conclusions I and III follow
Sad sy 1 iR 111 981 8

4) All conclusions I, II and III follow

I sy 1, 17 R 111 TE

Correct Answer: Only conclusions I and III follow

Fad e 1 3R 111 I

Candidate Answer: Only conclusions I and III follow

Fad e 1 3R 111 9 ?

QID: 242 -
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Options:
1)

N

) & &6 &

w

»

Correct Answer:

=

Candidate Answer:

e

QID: 243 -

Options:
1)

2

~

3

~

4

=

Correct Answer:
Candidate Answer: [ NOT ANSWERED ]

QID: 244 -
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Options:
1) CEB

2) HFE
3) HF

4) IG
Correct Answer: HF
Candidate Answer: HF

QID : 245 -

Which of the following Venn diagrams represents the
relationship between Elephants, Giraffes and
Herbivores ?

fr=iferRad & & o a7 o= o eiftral, fomme siv

Options:
1)

2)

© ®

3)

4)

© @

Correct Answer:

Candidate Answer:

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjUwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 11/51
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QID : 246 -

Which answer figure will complete the pattern in the

question figure?

Staff Selection Commision

frferRad & & s Iav anepfer ay anfer & uftey

T ORT B2

Options:

3
1

/N
_/

2)

3)

7\
N

4)

/N

Correct Answer:

7\

-

Candidate Answer:

X

2

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjUwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c#
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QID: 247 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

a1 it SR St & 99 sapfr Y gAY o e
sy fifea i

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjUwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 13/51
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QID

1248 -

Staff Selection Commision

A piece of paper is folded and punched as

shown below in the question figures. From the

given answer figures, indicate how it will appear
when opened.

T JMHAT H T STAR BFTST T AR I
VG R AT Gl o J1S 8 fobey IR JThier ST

feramg <

Options:

1)

o
0

OO~

O
O

2)

A= s o174

[o]e]

00~

Q0

3)

L/ 00 \]

[¢]e]

00 /]

Q0

4)

O O O
@{)B

OO,

Correct Answer:

v

o]
o]

AY

00 ]

O
O

Q0 /]

Cand

idate Answer:

7

L/ 00

00 ]

hYele]

Q0

QID : 249 -

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjUwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c#
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Options:

©
P4

2)

3)

4

>
B

Correct Answer:

Y
\_ D

Candidate Answer:

Y
\_ D

e | _o
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QID : 250 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-1 are numberad from 0 to 4 and that of Matrix-1|
are numbered from S to 9. A letter from these matrices can be represented
first by its row and next by its column, for example 'J' can be represented by
34, 20 etc and 'Q' can be represented by 78, 97 etc. Similarly, you have to
identify the set for the word 'INKY".

e 96 el o WRT-THE R ST T &, ST (e farpent 4 3 fael ue
e 1T &1 e 7 o 717 WeT-ag S8R & &l a7l g1 GAig e 8, e
o T & aregel & &) amvee-| & TR ofi Ul T EwE 0 9 4 ofT anegE-l 1 5
& 0 B 37 aeEl & U o7 of et ISt ot il aTe ¥ we e g avfar
T e B SRR i 1T ' @Y 34, 20 AR ST SeifET @ e & a9 'Q @
78, 97 371 FRT SAATAT O T &1 S 7% % S9! w7 BT 9es INKY' &

forT @7E @1 gEam 2
Matrix | HTEEL Matrix Il HTEE|

o 1 2 | 3 a 5 6 7 8 9
0 F C K | m [ 5 ¥ 5 W N W
1 H A [ B [ 4 X [*] z i
z J F K | & B 7 ¥ v ¥ a i
3 J B 1 F 1 [ R [+ u Q 5]
4 E F B H B El W R o T b

Options:

1) 32,58,02,75
2) 34,85,98,10
3) 43,89,04,55

4) 11,67,03,65
Correct Answer: 32,58,02,75
Candidate Answer: 32,58,02,75

QID : 251 - In a period of inflation and price rise the supply of money

TErRwfY R Fat & g Y erafy & ¢ B agff Bt 81
Options:
1) increases

2) decreases

3) remains the same
TP a1
4) increases or decreases proportionately

JAMUS €U ¥ gig a1 HH

Correct Answer: increases

Candidate Answer: increases

QID : 252 - Who among the following is related with 'Labour Theory of Property'?

e & 3 o guly & 49 Rigr § =i 22
Options:

1) Adam Smith

TeH Ry

2) John Locke

EIpkqicy

3) 1.S. Mill

GASAEK]

4) J. J. Rousseau

Correct Answer: John Locke

CIEENIC

Candidate Answer: [ NOT ANSWERED ]

QID : 253 - Which is India's first "Global Telecom City" in the following?

frefifad # YRd 1 Tgdl "wied SR R a1 8?2
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Options:
1) Hyderabad

2) Noida
3) Kolkata
HIABIT

4) Bengaluru
Correct Answer: Bengaluru

Candidate Answer: [ NOT ANSWERED ]

QID : 254 - According to World Bank what was the approximate land utilization percentage of India for agriculture purposes?

3% S & IR P TEeHl & T URA BT AT YT ST Ufawrd 9 2015 H T 4T AT
Options:

1) 50%

2) 60%

3) 70%

4) 45%

Correct Answer: 60%

Candidate Answer: [ NOT ANSWERED ]

QID : 255 - Which among the following was used as the motto for Census of India 2011?

YRd Bt STRIUMT-2011 & foe Fofeiad & & H-a1 sl areg Iuant fesar mar ur
Options:

1) Our Country, Our Family

SR Frel, AR BiAe!

2) Our Duty, Our Census

SR YL, SR AT

3) Our Census, Our Future

SR Y, 3R TR

4) Our Country, Our Census

SR Hegl, AR TqH

Correct Answer: Our Census, Our Future
SR T, AR TR

Candidate Answer: Our Census, Our Future
SR Y, 3R TR

QID : 256 - Which of the following is not a feature of good governance?

e & @ o1 g 3t v 76 82
Options:
1) Accountability

2) Transparency

3) Red Tapism

SISE

4) Rule of Law

B ®1 Fam

Correct Answer: Red Tapism
GINRGIRIG]

Candidate Answer: Red Tapism
SISE

QID : 257 - Who rejected the "Principles of Administration as myths and proverbs"?

"fiyert 3R Perad $ T H U & g & e iR fear g2
Options:

1) F.W. Riggs

. S R

2) Dwight Waldo

ECECEIS

3) Herbert Simon

L CASIFEE|
4) Frank Marini
o BRAT
Correct Answer: Herbert Simon

RECASIEE|
Candidate Answer: [ NOT ANSWERED ]

QID : 258 - Which of the following is related to the Second Schedule of Indian Constitution?

YR Tfae ot gedt gt &7 day 39 9§ fhas 82
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Options:
1) Representation in the Rajya Sabha
7T FHT &
2) Language
Hror
3) Oath taking
RTY TGl
4) Salaries of important officials
3
Correct Answer: Salaries of important officials
[ &7 3a
Candidate Answer: Oath taking
RAY Tgur

QID : 259 - The concept of single citizenship in the Indian Constitution is inspired by which country?

HRATT GRU™ & Uebet ATiedT Bt ayRUT bg 3w § Ofikd 82
Options:

1) Germany

S

2) France
g

3) Ireland
RRAS

4) England
C_orrect Answer: England

Candidate Answer: [ NOT ANSWERED ]

QID : 260 - The authoritative text of the Indian Constitution in Hindi was authorized to be published which of the following constitutional amendments?

HRdTT Tf3er & wfigd R urs & Fafoia faum Ieemt & F feud gR1 UsRid B & fiu siftigd fvar mam
Options:

1) 57t Amendment, 1987

57-af Y=Med, 1987

2) 58™ Amendment, 1987

58-a7 TN, 1987

3) 59t Amendment, 1988

59-g7 T=MeH, 1988

4) 60t Amendmend, 1988

60-af T=MeM, 1988

Correct Answer: 58t Amendment, 1987
58-a7 T=Me, 1987

Candidate Answer: [ NOT ANSWERED ]

QID : 261 - The Chalukya ruler Pulakesin's victory over Harshavardhana was in year

IR IH GBI B g¥ad W o &1 ad |
Options:

1) 612 A.D.

612 &t

2) 618 AD.

618 34t
3) 622 A.D.
622 5t
4) 634 A.D.

634 S&dt

Correct Answer: 618 A.D.
618 St

Candidate Answer: [ NOT ANSWERED ]

QID : 262 - Which of the following Sufi order was the most orthodox?
fofafea # 9 Sia-a1 gt Juer Jaffte sfeardt ur
Options:

1) Chishti

foreht

2) Qadiri

Fifed

3) Sarwari Qadri

WA B

4) Nagshbandi

RENCE]

Correct Answer: Nagshbandi

Candidate Answer: [ NOT ANSWERED ]
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QID : 263 - For which of the following rulers 'Ekabrahmana’ has been used?
oo el & ¥ ferads o wet saror wged gan 82

Options:
1) Kharavela

2) Susharman
3) Pushyamitra Sung

il
4) Gautamiputra Shatkarni
Correct Answer: Gautamiputra Shatkarni

Candidate Answer: [ NOT ANSWERED ]

QID : 264 - Who was the first person to be selected for "Individual Satyagraha" during the Indian Independence Movement?

YRS T TR P SR "safdaTd Tme" & forg I 78 U sfad & 47
Options:

1) Deshbandhu Chittaranjan Das

Y ferdaeeH g

2) Sardar Vallabhai Patel

TR T@HUTS Ted

3) Dr. Rajendra Prasad

SRS

4) Acharya Vinoba Bhave

Sfrard fa-ar ura

Correct Answer: Acharya Vinoba Bhave

Candidate Answer: Acharya Vinoba Bhave

Ty et H1d

QID : 265 - Mountbatten Plan (June 1947) provided for a referendum in which of the following province?

TRSede WH (S 1947) = Fafofea 3 9 forg i & saa 9Ug veH faar ar
Options:

1) Sindh

Ry

2) Punjab

EEIc)

3) Baluchistan

4) North-West Frontier Province

JIWR-ufyH derd uid

Correct Answer: North-West Frontier Province
IWR-UfEH W uid

Candidate Answer: North-West Frontier Province

ITR-UMH W wid

QID : 266 - Which of the following is not an example of a metamorphic rock?

i & $H-a1 SuidiRd Fg BT IS e 82
Options:

1) Gneiss

Biks

2) Phyllite
EAEGIEH
3) Schist
e

4) Granite
Correct Answer: Granite

Candidate Answer: Granite

QID : 267 - Stratellite is the

QAT ganal

Options:
1) Uppermost band of stratosphere
HATIHST BT T SHUT &
2) Lowermost band of stratosphere
JHAOHST &1 qad e o
3) High altitude airship positioned in the stratosphere
3 Far R gHaIHea § wifid
4) Natural satellite of Jupiter
BT UIHad I
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Correct Answer: Highhaltitu.de airship positioned in the stratosphere
3f% Fas R gHAIHST d R
Candidate Answer: [ NOT ANSWERED ]

QID : 268 - Mount St. Helens is an active stratovolcano located in which of the following countries?

Titha R Sarange udd e o0 Fafiiad § 4 fog 3w & fua 82
Options:

1) Japan

NIEIE]

2) United States of America

Tga T ST
3) Chile
fareht

4) Italy
godll

Correct Answer: United States of America
RECSRIS]
Candidate Answer: [ NOT ANSWERED ]

QID : 269 - In which Indian state is the Nanda Devi peak located?

e it At URd & o s B RiT &2
Options:
1) Sikkim
oy
2) Himachal Pradesh
e

3) Jam.mu and Kashmir

0] Ud HIAR
4) Uttarakhand

Correct Answer: Uttarakhand

Candidate Answer: Uttarakhand
JWREUS

QID : 270 - India shares longest international boundary with which country?

fFrafefed # b 321 & 1 WRd Faifie vl SfRfgta War wrem @ 82
Options:

1) Pakistan

BIEASIE]

2) Bangladesh

SIS

3) Nepal

BRG]

4) China

Correct Answer: Bangladesh

C;ndidate Answer: Bangladesh

QID : 271 - Which of the following states became the first to shift to January to December financial year?

faxr a8 Set @ feaweR e & aTel T ST BIF 91 82
Options:

1) West Bengal

LIEEET G

2) Uttar Pradesh

JIWR U

3) Madhya Pradesh

T T

4) Himachal Pradesh

Correct Answer: Madhya Pradesh

A YT
Candidate Answer: Madhya Pradesh

e Je

QID : 272 - What is the name of satellite that was carried on-board PSLV-C40 rocket in ISRO’s historic 100t satellite launch on 12 January 2018?

12 A 2018 H TR B Afaeye 100-F Iwrg vaTw & droguad-wh 40 Fhe gRT AR Yo Yadh IUE T A9 F7 82
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Options:

1) Cartosat-2C
-2C

2) Cartosat-2D
-2D

3) Cartosat-2E
-2E

4) PIefde-2F

Cartosat-2F

Correct Answer: HTeidic-2F

Cartosat-2F

Candidate Answer: [ NOT ANSWERED ]

QID : 273 - The 'Malabar' is a naval exercise between which of the following countries?

AaER Fafaied 3 § 6T =i & §a 31 U TR 3naw 82
Options:

1) India and China

YR 3R 9

2) India, Japan and USA

R, SITI 3R

3) India, South Korea and Japan

HR, &faor i SR S

4) India, Bangladesh and Sri Lanka

Correct Answer: India, Japan and USA

R, ST 3R JuaY

Candidate Answer: India, Bangladesh and Sri Lanka

YR, IFATG 3R Hiciahr

QID : 274 - Whom did Rafael Nadal defeated to win the US Open 2017 Men's Singles title?

AHd TSI A fordl THR G, TH. 31U 2017 HT Y THA RAqTd Sirar?
Options:
1) Kevjn Anderson

2) Roger Federer
AR SR

3) Stan Wawrinka
T I

4) Horia Tecau

BN THI3

Correct Answer: Kevin Anderson
CACERUCEEE ]

Candidate Answer: Horia Tecau

ik TP

QID : 275 - Whom did Pankaj Advani defeat to win the Asian Billiards Championship title in year 2017?

Uepot Sgarlt 3 af 2017 F 5 g TRRA Sty AftmaRa o1 fade siar
Options:
1) Aditya Mehta

Hgdl

2) Manan Chandra
T Il

3) Subhash Agarwal
BSCINESPEIN)

4) Sourav Kothari
IRA HIORT

Correct Answer: Sourav Kothari

Candidate Answer: [ NOT ANSWERED ]

QID : 276 - “India : The Future Is Now"” is written by

SfEU TR AR gRIRRA T R
Options:

1) Kapil Sibal

Fivd R

2) Arun Jaitely
3 et
3) Rajnath Singh
REEIDAR

4) Shashi Tharoor
TR AR

Correct Answer: Shashi Tharoor
EIRIRICST

Candidate Answer: [ NOT ANSWERED ]
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QID : 277 - Who among the following has received Rajiv Gandhi Khel Ratna Award in August 2017?

frofoiea o 9 fFam erra 2017 # Toita i T e ISR U fobar 82
Options:
1) Sardar Singh
WeR Rig
2) Khushbir Kaur
PR

3) S. V. Sunil

. &Y. g

4) Varun Singh Bhati

=0T Rig Hich

Correct Answer: Sardar Singh
WeR Rig

Candidate Answer: Sardar Singh
TER Rig

QID : 278 - The traditional festival of Losar 2017 was celebrated in which of the following state?

Frofafea & ¥ feg o0 & uRuRe I0d AR 2017 HAETET 17T UT?
Options:
1) Himachal Pradesh

2) Rajasthan
RTSTRITT

3) Uttar Pradesh
JR U

4) Bihar

Correct Answer: Himachal Pradesh

Candidate Answer: [ NOT ANSWERED ]

QID : 279 - Which of the following countries have signed comprehensive anti-terror pact agreement in November 2017?

fafefad & 9 fb 2= 7 TawR 2017 § 39S Hddpare R T THia W g 82
Options:

1) India and USA

HRA dUT TA.T.

2) India and Sri Lanka

YR a1 diciedT

3) India and China

YR T I

4) India and Russia

HRd dU1 =9

Correct Answer: India and Russia
HRA dUT =4

Candidate Answer: India and USA
YR U7 g, TH.U.

QID : 280 - The only country in the world whose flag is not a square or rectangle is

fay o Toam 3 R AP &9 7 @ THR § 7 8 SHRABR gl
Options:

1) Sri Lanka

st

2) Bhutan
3) Maldives
4) Nepal
BRI

Correct Answer: Nepal

Candidate Answer: [ NOT ANSWERED ]

QID : 281 - In which of the following the Data Structures perform an important role?
Faffd & @ fead e TR TP Heayul YiHeT FHd 82

Options:
1) Input device
$Yc fEarsy

2) Hardware
3) Program design

4) Logic gate
SIEEZRI

Correct Answer: Program design

e fEerga
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Candidate Answer: Program design

QID : 282 - What is the full form of '"MAN' in computer terminology?

HIICR Yeaael H 'TAVTT' BT S =T o1 82
Options:
1) Margin Area Network

Jeadh

2) Maximize Area Network
BLGEY

3) Metrobolitan Area Network

<

4) Megabyte Area Network

Correct Answer: Metropolitan Area Network

X

Candidate Answer: Margin Area Network

QID : 283 - Which of the following reaction is an example of exothermic reaction?

Fofafed o 9 o1 @ sfiifosa, Swmad sfifra o1 16 I 52
Options:
1) Burning of natural gas
9 &1 g
2) Respiration
CNEl
3) The decomposition of vegetable matter into compost.
IS G &1 fue §iH) HURE &1
4) All options are correct.
Tt fasren O €1
Correct Answer: All options are correct.

¥t faepeu O 21
Candidate Answer: [ NOT ANSWERED ]

QID : 284 - Which of the following solution is used in black and white photography?

fafefad § @ oF a1 faaaa @ 9ur 4d Wiermw! & Iugi e ofrar 82
Options:

1) Silver chloride

e

2) Silver bromide
3) Silver iodide
R

4) All options are correct.

uff fopey T B

Correct Answer: All options are correct.

Tt fape TE B
Candidate Answer: [ NOT ANSWERED ]

QID : 285 - Which of the following shows exception to the Octet rule?

fofafea # @ S 1 3ve om & suare &1 g 82
Options:

1) Carbon

Hra

2) Boron
3) Neon
s
4) Argon
amf

Correct Answer: Boron

Candidate Answer: [ NOT ANSWERED ]

QID : 286 - Which of the following angles are equal in case of plane mirror?
I. Angle of incidence

II1. Angle of refraction
III. Angle of reflection

THae <o ) fRufy # el & @ S99 @ Hior 3y § sRieR 81 82
1. 3d S0

II. 3{Udd HIur
III. TRIEc PHIor
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Options:

1) Only I and II
Pad [ quT I

2) Only I and III
Had I auT 11T

3) Only IT and III
Had I1 9T 111

4) All the given angles are equal.
fau Tl Hor R_IeR

Correct Answer: Only I and III

I I 9T 111

Candidate Answer: Only I and III
%ad 1 quT 111

QID : 287 - Which of the following is a heterogeneous mixture?

fofafaa 7 9 B9 a1 ue facrdig fogor g2
Options:
1) Solution

2) Suspension

3) Both Solution and Suspen5|on
T qu FceA
4) Neither Solution nor Suspension

181 faees 71 8 s

Correct Answer: Suspension

Candidate Answer: Neither Solution nor Suspension
BIGAEREEE K]

QID : 288 - Filament of electric bulbs are generally made of

fagud seail ¥ dg WM IF BT
Options:
1) nichrome

2) tungsten
AR
3) constantan

4) manganin

Correct Answer: tungsten
e

Candidate Answer: tungsten
T

QID : 289 - Which of the following is Fleming's right hand rule?

PraffEd 4 & S a1 Wit &1 efor-gw fFam 82
Options:
1) Induced current is directed in the direction of movement of conductor.
e | IRd YR, TS B IR B R A B R
2) Magnetic field is directed in the direction of movement of conductor.
BT & FTas B T B e A S
3) Magnetic field is dlrected in the direction of induced current.
, IR oRT @ fo=m & @ 71
4) Movement of conductor, magnetic field and induced current are perpendicular to each other.

Waﬁnﬁ,qaﬁnaaamﬁﬁammﬁmm%

Correct Answer: Movement of conductor, magnetic field and induced current are perpendicular to each other.
AP B TG, JIBIT & U1 UG YRT 310 H dead gid g
Candidate Answer: Movement of conductor, magnetic field and induced current are perpendicular to each other.

1A B T, JIB & U1 IR URT 10 B gad 81 g

QID : 290 - What is the numerical value of temperature at which Fahrenheit and Celsius scales are equal?

TIHH T 98 UTSaidh & & We] BiR-eTse aul AfRmaw SHT 30 T0H 8 82
Options:
1) 40°

2) - 40°
3)-34°

4) - 140°
Correct Answer: — 40°
Candidate Answer: — 40°
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QID : 291 - Which disease is caused by deficiency of Vitamin B?

faerftF B @Y B 1 T AT e &2
Options:
1) Beri-Beri
-
2) Rickets
AT

3) Kwashiorkor

4) Scurvy

Correct Answer: Beri-Beri
-

Candidate Answer: Beri-Beri

QID : 292 - During heavy exercise, we get cramps in the legs due to the accumulation of

PR M R THT AR WY 7 % TG & PR U6 B g
Options:

1) carbon qjoxide

CACE RS ERIERIESS

2) lactic acid

Qe srat

3) alcohol

4) water
oIl

Correct Answer: lactic acid
3T

Candidate Answer: [ NOT ANSWERED ]

QID : 293 - With which of the following does Haemoglobin has maximum affinity?

i & 3 fpas ary Savenfad Bt sifiiman syar gt 32
Options:

1) Oxygen

SIS

2) Carbon dioxide

CACERSERIERIES

3) Carbon monoxide
RS

4) Nitrogen

Correct Answer: Carbon monoxide
RS S

Candidate Answer: Carbon monoxide

PIE AAHTFES

QID : 294 - Which of the following is NOT unicellular?

frafafed & 3 o1 9 e-oIRe T8 32
Options:
1) Euglena

2) Amoeba
SHiaT

3) Paramecium
4) Hydra

HEE]

Correct Answer: Hydra

Candidate Answer: Euglena

QID : 295 - Which of the following controls the amount of light entering the eye?

frefifad § ¥ B9 3 & U3 B aTel eI 1 HET Bl HufHd &1 82
Options:

1) Iris

2) Cornea

3) Aqueous humour

4) Crystalline lens
fopeeeia g
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Correct Answer: Iris

Candidate Answer: Iris

QID : 296 - Which of the following disease is caused by bacteria?

fofafaa & ¥ B9 a1 I Siar] & SRS 82
Options:
1) Tuberculosis

2) Common-cold

3) AIDS

ueq
4) Dengue fever

ST YR

Correct Answer: Tuberculosis

Candidate Answer: Tuberculosis

QID : 297 - Excess of fluoride in drinking water causes

4R & o A TRTsS B HAE A BT BRI B
Options:

1) Iung disease

2) intestinal infection

il BT HeHa

3) mottling of teeth

3rdl &1 foliaR &1

4) No option is correct.

1< e Td T R

Correct Answer: mottling of teeth
afdl &1 fRRiTeR S

Candidate Answer: [ NOT ANSWERED ]

QID : 298 - Reduce, Reuse and are the three R's to save the environment.

oo, fggaur_ woiRuien & R da R €
Options:
1) Rewise

2) Restore

3) Recycle

4) Recall

Repra

Correct Answer: Recycle

Candidate Answer: Recycle

QID : 299 - Fine solid particles or liquid droplets suspended in air are called

IRy ¥ faifod Bic Bic 314 S 3dT IR B dg FHgan g
Options:
1) Aerosol

2) Emulsion

SHERH
3) Foam
Lat|

4) Gel
S
Correct Answer: Aerosol

Candidate Answer: Aerosol

QID : 300 - Which among the following ecosystem have inverted biomass pyramid?

frofafaa # ¥ o uifufaew! & @1 St shaur (@) fRiftrs g g2
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Options:
1) Marine ecosystem
GE)
2) Grassland ecosystem
GE]
3) Both marine and grassland ecosystems

ity quT AeF uikiRufae) & gt

4) Neither marine nor grassland ecosystem
1 €1 orefa T € i

Correct Answer: Marine ecosystem
GES

Candidate Answer: Marine ecosystem
o

QID : 301 - Which of the following is the dimensional formula for conductivity?

fofofad & ¥ S1F 91 Aradar T S 9 32
Options:
1)

M3T3 A2
2)

MEPT>A>
3)

M2 L2 T -3 A_2
4)

MET?A™
Correct Answer:
M 3732
Candidate Answer:

MLT3A

QID : 302 - Which of the following is the CORRECT expression for the capacitance of a parallel plate capacitor?

9 & Y B 91 TR T JuiRa Bt Geriar & o a8t geiexo 82
Options:
1)

A

d

2)
gA?

d

3)
sA%d?

4)
Ad

£

Correct Answer:

gA

d

Candidate Answer:

gA

d

QID : 303 - In a series combination of several inductors, the equivalent inductance is

T3 WP F YO T H, GG RbA Qi gl
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Options:
1) equal to the largest inductance of the combination
TS & qaY g IR$HT & SRR
2) lower than the largest inductance of the combination
i R
3) lower than the smallest inductance of the combination
TIIoH 31 9aY B¢ IRP@ 9 HH
4) greater than the largest inductance of the combination
: Jaer
Correct Answer: greater than the largest inductance of the combination
TS & qad g9 NG U §8]
Candidate Answer: grea%er than the largest inductance of the combination
EE

QID : 304 - Which of the following is the reciprocal of resistivity?

frofafed & ¥ o1 sfRiyesd &1 IRwWRS §?
Options:

1) Reluctivity

Rafacfadt

2) Susceptibility
TR ( )
3) Conductivity
IAHdl (Blgfaciacn)
4) Permittivity

(affffadh
Correct Answer: Conductivity
IAHdl (Blgfaciaen)
Candidate Answer: Conductivity
DAl (Blgfaciden)

QID : 305 - Determine the value of equivalent inductance, if 4 inductors having inductance L are connected in parallel.

TG IRebed &1 A P #%, e L IReved 910t 4 IReb THMIR & IS g
Options:
1) 4L

2) L/4
3) 4/L

4) 8L
Correct Answer: L/4
Candidate Answer: L/4

QID : 306 - Determine the conductance (in Siemens) of a conductor, when the potential difference between the ends of the conductor is 30 V and the current
flowing through the conductor is 3 A.

TS A B Al (g 7) Rl w3, ¢ aae & RRE & da &1 fauraR (A Rrd f5wi) 30 diee § 3R 91de & A1 § dgdt fagad 9RT 3 TR g1
Options:

1)0.1

2)1.1

3)24

4)4.2

Correct Answer: 0.1
Candidate Answer: 0.1

QID : 307 - How much power (in W) will be dissipated by a 10 ohms resistor, when the current through the resistor is 3 A?

10 3N TRy gRT frat ek &7 & (are H) 8, 919 ufoRiye & A1 § figad uRT 3 THRR 82
Options:
1) 30

2) 40
3) 60

4) 90
Correct Answer: 90
Candidate Answer: 90

QID : 308 - Determine the value of resistance (in Ohms) of a resistor at 40 degree Celsius, when the resistance has a resistance of 10 Ohms at 0 degree Celsius
and the temperature coefficient at 0 degree Celsius is 0.04.

gfaRiees & uieRiy & W Y 40 fooht iR w (30 #) a3, o 0 feoh AfRrag ufeRly 10 8| a1 § @ik 0 33 ik o uiss 0.04 71
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Options:
1) 20

2)23
3) 24

4) 26
Correct Answer: 26
Candidate Answer: 26

QID : 309 - Determine the energy stored (in J) by a 5 H inductor, when the current flowing through the inductor is 6 A.

5 38 & IR gRT TUEId SHoit (S H) e &3, 99 IRe & Arerd J a5t fagad R 6 TR 71
Options:
1) 94

2) 90
3) 60

4) 40
Correct Answer: 90
Candidate Answer: 90

QID: 310 -

Determine the equivalent resistance (in Ohms)
for the circuit given below.

A T 1w aRwer & FeEded qfckEr

@ ) Frifa w3

10 10 m%

20 20

|+

Options:
1)2

2)4
3)6

4)9
Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

QID : 311 - Determine the resistance (in Ohms) of resistor when the potential difference between the ends of the resistor is 24 V and the current flowing through
the resistor is 3 A.

gfeRiee & ufeRiy 1 A (3 H) Feifd B3, 9 ufoRiye & RRY & & &1 favarR QR femiy) 24 diee § iR ufadiy & st fagad 4T 3 TR 31
Opti :

D12

2) 10

3)8

4)4

Correct Answer: 8

Candidate Answer: 8
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QID:312-
Determine the value of current /[, (in A)
for the diagram given below.

A &y a5 3w & fow fagga o 1,
& AR (TR &) foefifa &0

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 1
Candidate Answer: 1

QID : 313 - Which of the following statement is TRUE?

5 7§ P W FuF wEt 82
Options:
1) The current always flows in the direction of flow of electrons.

Agad YRT §HRN SAITIHI & TaTg 1 fa=m & varfed gar g
2) The current always flqws opposite to the direction of flow of electrons.

fagad YRT AR AT & YaTe B faxm & faudtd varfed g 21
3) The current always flows from negative terminal to positive terminal.
fagad uRT g HoTES i § e <fifd Bt oik yared gt 31
4) The electrons always flow from positive terminal to negative terminal.
21 ERN AT e & BUNTEs fHiaa $t ok arfed 2t 81
Correct Answer: The current always flows opposite to the direction of flow of electrons.
fagad uRT gA=N oAl & YaTg &1 fexn & fausdia varfed g g1
Candidate Answer: The current always flows opposite to the direction of flow of electrons.

fagad YRT TR SR & YaTE B &= % Ui yarfed g B

QID : 314 - Which of the following expression explains the Kirchhoff’s current law?

frofoiad o ¥ 19 91 IHieR [Hare & fgad uRT W 3 ore & 82
Options:
1)
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Candidate Answer:
i}

Z"n =0
n=1

QID: 315 -
Determine the Norton's resistance (in Ohms)

between terminals A and B for the circuit given below.

d9 fev aw ofigy & fov cfad AR B&
drF e F ufeirer &1 7= (3 ) Frifa :3

20
20 10 10
WWVT W w0 A
20
i
10V T 30
0B
Options:
1)6.5
2)5.4
3)45
4)35

Correct Answer: 3.5
Candidate Answer: 4.5

QID : 316 -
Determine the wvalue of current I (in A) drawn from

the voltage source for the circuit given below.

A fer aw ofgy & v dees @9 @
yared fagga amr | &1 A (TERR #) FRifa &

3qa a0 10 10

Options:
1) 2.5

2) 3.4
3)4.3

4) 6.5
Correct Answer: 4.3
Candidate Answer: 4.3

QID : 317 - Determine the value of source resistance (in Ohms) for transmitting maximum power from the source to the load, when the load impedance of the
circuit is 10 — j2 Ohms.

T q s a Sifad Wfed &1 TR B4 & 1T Tid UfaRiy o7 A (309 H) 71 B3, 9d URuY &1 s uiasner 10 - j2 39 31
Options:

1)2

2)10

3)-2

4)-10

Correct Answer: 10

Candidate Answer: 10
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QID: 318 -
Determine the power (in W) delivered from
the source for the circuit given below.

A B0 9w 9fyger & o @i gan & TS
ofFa (@e #) i #1)

20
20 10 10

20

k

Options:
1) 23.8
2) 26.6
3) 24.6
4)22.6

Correct Answer: 23.8
Candidate Answer: 23.8

0oV

QID: 319 -
Determine the value of Thevenin's equivalent resistance (in Ohms) across
terminal A and B for the electrical circuit given below.

drr few aw facga ofiww & v cffiee A AN B frfT @agew
wfe’ler &1 AT (31 #7) T B

Options:
1)1

2)2
3)6

4)8
Correct Answer: 2
Candidate Answer: 2

QID : 320 - Determine the value of load resistance (in Ohms) for a circuit, when the maximum power transferred from the source of 50 V to the load is 25 W.

o URUY & forT dis Uiy & A9 o1 RefRur (3 7) &%, 91 50 diee & Iid ¥ e d AU e RAMTERUT 25 dTe 8l
Options:

1) 50

2) 40

3)35

4) 25
Correct Answer: 25
Candidate Answer: 25

QID : 321 - What will happen to the inductance, if number of turns of the coil is decreased?

IR o TN YHTT T3 afe Hsett I gl (e=i) Bt G H HH 8 ol 82
Options:

1) Increase

2) Decrease

3) Remain same

4) None of these

T I Tl
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Correct Answer: Decrease

Candidate Answer: Decrease

QID : 322 - If the area of cross-section is reduced to half of its original value, then what will happen to the flux density?

T T TR T UHT TS Afe SHTRIGTE BT 0 ST Ted HF § 31T 81 Il 82
Options:
1) Doubled

2) Halved
31T
3) Remain same

4) One-fourth
Teb g
Correct Answer: Doubled

Candidate Answer: Doubled

QID: 323 -
Calculate the value of flux leakage coefficient, if

@, is the air gap flux and ¢, is the flux in iron core.

FAFH ellchel 0T & HIA I AT &Y, AT ag
IR FIRT ¢, & 3R og & &R 7 w0 4 Bl

Options:
1)

& |4,

2)

&/,

3)

& < &y

4)

Qj‘a i ¢g
Correct Answer:
éa / ¢j‘g

Candidate Answer:

& |4,

QID: 324 -
The graph shown below represents the

B-H curve for

Arr fearr mar W F forw
B-H % & gfafaficg &<ar 21
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Options:
1) glass
B
2) steel

Correct Answer: air

Candidate Answer: air

g

QID : 325 - A conductor of length 0.6 m is situated at the right angle to a uniform magnetic field of flux density 4 Wb/sq. m. The conductor is moving with a
velocity of 50 m/s. Calculate the emf induced (in V) n the conductor.

0.6 Hiex TETS aTal U AT 4 e/ Hier Ta O & U TAH oo 87 & I Uy & g 31 9maw 50 Mex/Ads & 31 F 1Y §¢ 367 § Iasd 3 oRkd
TUHUW &I T0AT (AIee |) B

Options:

1) 100

2) 115

3)118

4) 120

Correct Answer: 120
Candidate Answer: [ NOT ANSWERED ]

QID : 326 - A flux of 2 mWb passes through a strip of length and breadth 10 cm and 20 cm respectively. It is placed at an angle of 30 degrees to the direction of
uniform magnetic field. What is the magnetic flux density (in T)?

2 fireft-9aR &1 U Taa 10 FHeR SIR 20 FTHeR FY HHR: TS 3R DK P U UL I TORdT 31 T UL U UHIHH gadbig &8 @I = & 30 3 & s
G TN B | SEHNT U T (ST H) T 82

Options:

1)0.1

2)0.115

3)0.9

4)1

Correct Answer: 0.115

Candidate Answer: [ NOT ANSWERED ]

QID : 327 - A 600-turn coil has a resistance of 7 ohms and an inductance of 0.8 H. If one-fifth of the turns are removed, then determine the new inductance (in H).

600-c= a1d gl § 7 37H &1 UfaAY 3R 0.8 31 &1 IRebed B1 TS Sl & Ui=d o Y ger faar o 8, @ T WReved 1 (37 H) Fefifed &3
Options:
1) 0.512

2)1.25
3)2

4)25
Correct Answer: 0.512
Candidate Answer: [ NOT ANSWERED ]

QID : 328 - A magnetic circuit of reluctance 3000 A-turns/Wb is wounded by a wire of 400 turns. Determine the average emf induced (in V) in the coil, if a current
of 2 A is flowing in the coil is reversed in 15 s.

3003%@?-ﬁﬁ%3%mé?wqaﬁwﬁwﬁaﬂ$4ooﬁ%l@@?ﬁﬁﬁmﬁﬂﬂé@@i@ﬁﬁ)ﬁmﬁ,aﬁmﬁwwzmaﬁﬁmw
15 Iae |

Options:
1) 14.24

2) 16.28
3) 17.96

4) 19.62
Correct Answer: 14.24
Candidate Answer: [ NOT ANSWERED ]
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QID : 329 -
For the figure shown below, the permeability in

the core is4 %10~ Wh/A-turns-m . What is the
value of flux density (in T} in the core?
C AR T IR RIS & O, SN A aReEar
4107 Wb/Aturns-m &1 FIT #F
e Telcd &I HIA (CEal #7) &7 57

Options:
1)0.2

2) 0.382
3)0.6

41
Correct Answer: 0.382
Candidate Answer: [ NOT ANSWERED ]

QID: 330 -
Calculate the total inductance (in H) of the circuit shown below:

A fe@e o oRwer & del Wehed T 0T (BRI #) &

20H
ot \
° / 20H
50 H 10H g 60 H
o -’iz_“ﬁ‘*‘
Ll
o
Options:
1) 5.33
2)8.77
3)10.5
4)11.9

Correct Answer: 8.77
Candidate Answer: [ NOT ANSWERED ]

QID : 331 - Determine the quality factor of a series resonant RLC circuit, when the bandwidth of the circuit is 20 Hz.

IRuy 3 S35y 20 5 ], T9 SAIC! ST SIRUS URTY T o HReb Hufia |
Options:

1) 0.08

2) 0.05

3) 0.04

4)0.02

Correct Answer: 0.05
Candidate Answer: 0.05

QID : 332 - Which of the following represents the quality factor of a series RLC circuit?

9 & F B A1 Y AR R & TUrh IR BT Ui HT 82
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Options:

1)
l\ﬁ
RYC
2

1\E
RYL

4)
R? 5
L

Correct Answer:

l\ﬁ
RYC

Candidate Answer:
o \E
RYC

QID : 333 - Which of the following represents the relation between the peak value and RMS value of voltage for a sine wave?

39 & I S A1 I1™A 9T (W18 39) F A diees & R g (A 9e) ofR 9 e ga Hed (SR U o 9) & o & dy o gxifar 82
Options:
1)

||I"‘r'ms =1.41 4Vpeal{
2)

Mms SE 0'637%%}:
3)

l""‘r'ms = 0'424%&33}(
4)

Ve =0.707V,

eak

Correct Answer:

Vs =0.707V,

ms eak

Candidate Answer:

I|I'/rms = 0'707%9;3#(

QID : 334 - Determine the average value of an alternating current (in A) when the peak value of the current is 10 A.

fagadq 4RT & 3Nad geu &1 RuRor (TR ) 73, 59 fagad ¥RT &7 fRRR Ieg 10 THRR B
Options:

1) 14.14

2) 10.63

3) 6.37

4)4.36

Correct Answer: 6.37
Candidate Answer: [ NOT ANSWERED ]

QID : 335 - What will be the frequency (in Hz) of a sinusoidal waveform, when the time period of the wave is 25 ms?
UGG AR BT Mgy (B ) 1§, Wid TR T HTad bret 25 e s 32

Options:

1) 40

2) 50

3) 60

4) 80
Correct Answer: 40
Candidate Answer: 40
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QID : 336 - Determine the total impedance (in ohms) of a series RLC circuit having a resistance of 10 Ohms, capacitive reactance of 2 Ohms and inductive
reactance of 6 Ohms, connected in a series across a 200 V, 50 Hz supply.

mﬁtﬁwﬁﬁuﬁmm(aﬁﬂﬁ)ﬁmﬁ forg 10 3\ &1 iRy, 2 37| Bt Ferlar ufafsar 3iR 6 37H BT IRbd Ufdfshar 8, S 200 diee, 50
aﬁ&nql%f%mﬁgé
Options:
1) 8.64
2) 10.77
3) 12.21
4)14.65

Correct Answer: 10.77
Candidate Answer: 10.77

QID : 337 - Determine the value of phase current (in A) for a balanced delta connected system, when the value of line current is 8.7 A.

TP TIford SeeT yumel! & e the fagad eRT &1 A (TR 7) ufia 9, o9 are fagad ¥R o1 7 8.7 TR B
Options:
1)8

2)7
3)6

4)5
Correct Answer: 5
Candidate Answer: 5

QID : 338 - What will be the value of inductance (in mH) connected in parallel with a capacitance of 4 F in a series RLC circuit having a quality factor 2, when the
resonant frequency is 6 rad/sec?

TH 4T JRTHT IRUY T 4 I8 & Ge1iRaT & 1 AR H I3 IR BT A (Freh-g18 7 71 S, ST 70l HRS 2 8, S SR Mgy 6 3T/35s 82
Options:

1)p 2

2)3

3)5

4)7

Correct Answer: 7

Candidate Answer: [ NOT ANSWERED ]

QID : 339 -

Options:

1) 50

2) 60

3)80

4) 100

Correct Answer: 50
Candidate Answer: 50

QID : 340 - Determine the total power (in kW) consumed by a 3-phase delta connected system supplied by a line voltage of 230 V, if the value of phase current is
30 A and the current lags the voltage by 30 degree.

230 JieT & TH A1 diecl gRT MYfd &1 778 3-Iet Seel Higes YUl gRT |Ud $at Wfad (fpatare #) Fuffva o, afe % fagad Rt &1 9 30 TR § 8iR
fagad urT deew @ 30 foTh O B

Options:
1) 14.62

2) 15.26
3) 16.62

4) 17.93
Correct Answer: 17.93
Candidate Answer: [ NOT ANSWERED ]

QID : 341 - Which of the following bridge is most suitable for the measurement of an unknown resistance?

T ORIy % A9 & o 9 7 I B9 91 e Ied Iugad 82
Options:
1) Hay's Bridge
GEAEE]
2) Anderson Bridge
T foret
3) Wien’s Bridge
1 ot
4) Wheatstone Bridge
forst

Correct Answer: Wheatstone Bridge
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Candidate Answer: Wheatstone Bridge

QID : 342 - Which of the following instrument is used for the measurement of Insulation resistance?

AR UfeRIY Y {10 & forg Fuferiad Suawol & @ S a1 v 35 Sa 32
Options:

1) Megger

TR

2) Wattmeter
qreHier
3) Ammeter

4) Voltmeter
Correct Answer: Megger

Candidate Answer: Megger

QID : 343 - Which of the following is the CORRECT expression for the quality factor of Maxwell’s inductance-capacitance bridge?

AR B! RH-YUINS 51 & [uIa HRS & faw Fofofad & F o7 a1 w8t gt (gesF) 82
Options:
1)
wC,R,
2)
o B
wC,R,
3)
wC,
R,
4)
@R,
C,
Correct Answer:
wC,R,
Candidate Answer:
wC,
R,

QID : 344 - Determine the deflection sensitivity (in m/V) of a CRO, when the value of the deflection factor is 0.5 V/m.

t.3R. 37, Pt QU FaeT=iierar (Hiex/diee #) Fufika =3, 59 &= $R% &1 A 0.5 diee/HieR 81
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID : 345 - Determine the value of current (in mA) required for the full-scale deflection of a voltmeter when the sensitivity of the voltmeter is 125 Ohms/Volt.

Jeetiex F gl Aue g & forg snaxae fagad ¥RT & A &1 FyfRor (Fef-utR #) 3R, o9 deedier 3 Yae=iedr 125 siu/de 31
g)pglons:

2)4

3)8

4) 10
Correct Answer: 8
Candidate Answer: 8

QID : 346 - Determine the bandwidth (in Hz) of a sine wave that is reproduced by a CRO having a rise time of 70 ms.
TH IS T (I1S 39) B Ssfagy & (8¢ #) Fuikd w3 o o 70 frcdl-ds & Icgaa (e <5H) F W3RN, FRI SITRT R f3ar S 31

Options:

1)5

2) 10

3)15

4) 20

Correct Answer: 5

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjUwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 38/51



18/02/2018 Staff Selection Commision

Candidate Answer: 5

QID : 347 - Determine the value of a shunt resistance (in Ohms) required to convert a galvanometer into an ammeter of reading up to 15 A. The internal resistance
of the galvanometer is 30 Ohms and the value of current for full scale deflection is 0.3 A.

T NeaIHIeR Bl U 15 THRR ST arer weiter H uRafdd &3 & T 3awaes e ufaRiy & A Bt 70T (371H H) B | Aed-IHieR &1 3fidike Ufekiy 30 3NH § 3R
ol aTe fagor o fRTg fagad URT 1 A 0.3 TR 8|

Options:
1) 0.84
2)0.74
3)0.61
4) 0.52

Correct Answer: 0.61
Candidate Answer: 0.61

QID : 348 -

Determine the quality factor for Maxwell's inductance-capacitance bridge given
below, when the bridge is supplied by a frequency of 50 Hz

A few o Awmae & We-Auiar §e & v o FRE & JA= T
&, 71 foer @1 50 geo1 1 Imafea & smqfela fvar s #)

350
600
25 yF

50 Hz

f=)

sy

E

Options:
1) 0.16
2)0.27
3)0.36
4) 0.47

Correct Answer: 0.47
Candidate Answer: [ NOT ANSWERED ]

QID : 349 -

What will be the deflection (in rad) of a moving
iron instrument, when the inductance of the moving
iron instrument is (20+ 48)uH, where § is the
deflection in radian from zero position and the
deflection current is 5 A? Assuming spring constant

k=10x%10" Nm/rad .

TS Hd HERA IuHOT &I faamer (3aA #)

&7 g, ST AT AT ITRIOT FT Webed (20+46)pH B,
Sigl 6 e Pufd & YSa 7 faamor § 3w fasiosr facgd
T 5 TRRR §? A e &7 U Fagis
k=10%10" Nm/rad &I

Options:
1)5
2) 10
3)15

4) 20
Correct Answer: 5
Candidate Answer: [ NOT ANSWERED ]
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QID : 350 -
Determine the value of the unknown capacitance

C, (in pF) for the circuit given below, when no current flows
through the detector (D).

A BT av 9Ruy & v A §nildr ¢, & AT &7
PRROT (uF &) &Y I7 et O)F 7w T &5
feeZd o garfed =781 g &1

40 Q

20 pF

(=)
py
E
Options:
1) 20
2) 40
3) 60
4) 80

Correct Answer: 40
Candidate Answer: 40

QID : 351 - Which of the given losses are directly proportional to square of speed

e gt A A HH-T1 B A & a7l & GHIUTC Bl 22
Options:

1) Windage loss

g T g

2) Eddy current loss

UaR URT g

3) Both W|ndage and eddy current loss

I YO 3R YR YRT B ST

4) Hysteresis loss and brush loss
EREINEREE]
Correct Answer Both Windage and eddy current loss
g o 3R YR URT BT gL
Candidate Answer: Windage loss

IRy Ty g

QID : 352 - Breather is provided in a transformer to

ThawiR # fie ot wer fasan S 82
Options:

1) absorb moisture of air during breathing.
T F SR arg B Tl Sra=iivd IR & g

2) provide cold air in transformer
HIR # 38T 8al UgH PR & forg
3) absorb moisture from air entering in transformer
TRABIER T S arelt arg ) T4t sra=ifid e & forg
4) filter the transformer oil.
KEgt ¥ forg
Correct Answer: absorb moisture of air during breathing.

T & SRA arg B T Safig B &b g

Candidate Answer: absorb moisture of air during breathing.

e F SR arg &t Tt sra=ifvd I & forg

QID : 353 - Armature reaction effect is more in

3R ufdfspar yuTa fova # arfdres ghar 22
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Options:

1) field weakening method

& goad ugfa o

2) armature resistance control
il

3) same in both methods

ERIR FARRIR RS A G

4) all option are correct

It {

Correct Answer: field weakening method

&7 gaieH g

Candidate Answer: [ NOT ANSWERED ]

QID : 354 - The aiding ampere turns of the series field automatically

9oft & & TgrId UARR B w@d:-
Options:

1) increase with load

YR & Y 960 §

2) decrease with load

YR & 1Y Ued &

3) equals to the load

YR & SRR 8 &

4) None of these

T A P e

Correct Answer: increase with load
YR & AU §gd &

Candidate Answer: [ NOT ANSWERED ]

QID : 355 - A Shunt generator running at 1000 rpm generated emf of 100 V.If the speed increase to 1200 rpm, the generated emf is

1000 rpm TR e GTd Yie SReR H 100 V emf I BIdT &1 T 1 ST 1200 rpm PR W BT emf I g2
Options:
1) 140V

2) 120V
3) 240V

4) 360V
Correct Answer: 120V
Candidate Answer: 120V

QID : 356 - The primary and secondary windings of a transformer are

TAHIR B uuie R fdue aRféw-
Options:

1) conductively linked.

TP Y Y I BNl T

2) inductively linked.

IR =0 F I 8t B
3) electrically linked.
U Y G B B
4) mechanically linked.
i w0 A gl gl B
Correct Answer: inductively linked.
YA IS M B

Candidate Answer: inductively linked.

IRfOre w1 A g St &1

QID : 357 - Which of the following is not a part of transformer?
0 & I $H TAwIER BT I T 82

Options:

1) Commutator.

2) Conservator tank

e Th

3) Radiator

fafae

4) Tap changer

Tict aRad®

Correct Answer: Commutator.

Candidate Answer: Commutator.

QID : 358 - Find the number of poles required, if the frequency is 50Hz and speed of the motor is 500 rpm.
Trex BT 3Mgfy 50Hz IR A 500 rpm BF W b yaf &t sna=gaar gnft
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Options:

1) 24 poles

24 Yd

2) 12 poles

12.4d

3) 5 poles

5Yd

4) 10 poles

10 4d

Correct Answer: 12 poles
12 ¢4

Candidate Answer: 12 poles

12¢4a

QID : 359 - In squirrel cage induction, the rotor slots are slight skew in order to reduce

fofort Ok & e vem & R Huier % wWilew 98 @ R g €2
Options:

1) windage losses

IRy Ty g

2) eddy currents

HoR URT

3) reduce magnetic humming effect

JID I o THTG HH B & oY

4) friction losses

YT g

Correct Answer: reduce magnetic humming effect
YID G o THTG HH B & 101g

Candidate Answer: reduce magnetic humming effect

GIHIT T U HH B & [

QID : 360 - What type of operate a direct-on-line starter consists of a coil operated

Pl AT SHRde-3HTH-a3 Tdde H by FbR BT SHTRe gid 82
Options:

1) capacitor operated

e =ferd

2) a coil operated

T et A

3) resistor operated

UfeRIe® @Iferd

4) eddy current operated

AR YRT AT

Correct Answer: a coil operated
T el dferd

Candidate Answer: a coil operated

TS Heait dferd
QID : 361 - For a single phase capacitor start induction motor which of the following statements is valid ?

THd Pol YRRE SRy IROf Mex & fore 5 & § H19-31 H9= 9y 32

Options:

1) The capacitor is used for power factor improvement

TR T XIS IRt U FURA & e fopan s &

2) The direction of rotation can be changed by reversmg the main winding terminals
T EfET e S X quiF Bt fo=m et o Tebcdt

3) The dlrectlon of rotation cannot be changed

7oA &t faxm &t geat o gadt

4) The direction of rotation can be changed by interchanging the supply terminals

e RER ded wR O 3 faxm gl o gadt §
Correct Answer: The direction of rotation can be changed by reversing the main winding terminals
TR & <fifey e o quia of faxm sea o

Candidate Answer: The direction of rotation can be changed by reversing the main winding terminals

T TSRS i Iee B YU B fou Tl o It §

QID : 362 - If a single phase induction motor runs slower than normal, the most likely defect is

Ife; Tohet Throt IROR Hiex g el g B, o qed Guifad I o 8 gt 82
Options:
1) worn bearings
ford 5
2) short-circuit in the winding
I H ag-uRuy
3) open-circuit in the winding

ST o gar-uRuy
4) None of these

KEEG

Correct Answer: worn bearings

o gu foafe
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Candidate Answer: worn bearings

o gu foafe
QID : 363 - The capacity of Single phase induction motor is limited by
Tebel ol URUM Hiex BT 41fa e % gy Hiftra it &2

Options:

1) Pulsating torque

WeHH

2) uniform torque

THIHTT

3) non uniform torque

SHA

4) None of these

3T A PIE el

Correct Answer: Pulsating torque
WeHH

Candidate Answer: [ NOT ANSWERED ]

QID : 364 - The function of measurement system is/are .

A9 GO &1 ST 1§l 22

Options:

1) indicating function

YA Bl (haRH)

2) recording function

RIS e (FarM)

3) controlling function

= @ f T )

4) indicating( recording and controIIing.function ) o
Tobd AT (33HIE), RepITET 3R g0 W (e vhamr)
Correct Answer: indicating, recording and controlling function
Tohd BT (SEHEm), RepifT oiR Fg=10r wer (e warr)
Candidate Answer: indicating, recording and controlling function

Tabd BT (SfSBIeT), RepiiaT 3R FHE=0 wad (FHeifehT har)
QID : 365 - Which type of load is offered by cranes and hoists ?

H1 3R IS § Y UHR BT YR foan e g2
Options:

1) Gradually varying load

HhHRL: HR

2) Non-reversing, no-load start

R-Sreigl, YR fagh sy

3) Reversing, Iighp start

ST, TeehT SRY

4) Reversing, heavy start

el YRT Ry

Correct Answer: Reversing, heavy start
ST, URY 3Ry

Candidate Answer: Reversing, heavy start

ST, WY SRy

QID : 366 - Which of the following motor will give relatively high starting torque ?
0 & 3 frg iex & sgTdhd SeT SRS Tl U gNm?

Options:

1) Capacitor end motor

e 3id diex

2) Capacitor start motor

TUTRA SRH AR

3) Split phase motor

fade e Aer

4) Split motor

e Ay

Correct Answer: Capacitor start motor
TeRa 3RY HleR

Candidate Answer: Capacitor start motor
e SRY HieR

QID : 367 - Transmission lines

RERUISIERS
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Options:
1) absorb reactive power when fully loaded and generate reactive power on light loads

gufa: iRkd 819 TR vt =ifeT Sra=ifyd d=elt § iR YR &1 g WR ufqerdt Afed I et §
2) generate reactive power when fully loaded and absorb reactive power on light loads

: BN R yferd e S Bt § 3R UR FHH 81 IR ufard wfda sra=ifia st §
3) generate reactive power on light loads as well as fully loaded
guid: ik B9 TR 3R Ty & R W g9 IR it wid Sl deell &
4) absorb reactive power on light loads as well as fully loaded

B W 3R I € YR HH 8 TR e S sra=nfia et §

Correct Answer: absorb reactive power when fully loaded and generate reactive power on light loads

gufa: YiRkd 817 TR vt =ifeT Sra=ifyd d=elt § o YR &1 gF WR fderdt Afed I wel &
Candidate Answer: [ NOT ANSWERED ]

QID : 368 - Maximum permissible span (in metre) for wooden poles is

THE! P T P o Sifiiman Wigd R (Hier #) fram giar 82
Options:
1) 10

2) 20
3) 30

4)75
Correct Answer: 75
Candidate Answer: [ NOT ANSWERED ]

QID : 369 - Moire fringes are used to measure rotary displacement along with

TR et &1 Iuai guif oo ([Riest feuwiadic) & arom 7 fads 9y fasan s 82
Options:
1) contact type encoders only

Fad YU <Y & FHeaa (TIHIeR) & Y

2) optical encoders only

FHeATH (TIHIE) & Y

3) type encoders and o &%qlcal encoders

SHPHA Feae (TIDHIEX) & Y

4) none of these
T A BIS 7Y
Correct Answer: optical encoders only

Had HMHA Heaad (TIDIST) & Y
Candidate Answer: [ NOT ANSWERED ]

QID : 370 - A cable has an insulation of relative permittivity 2. If the insulation is replaced by one of relative permittivity 4, the capacitance of the cable will become

Fad | 2 Mt faggasiiaan arar fadaes 81 fadaes @i 4 smifée faguasiad fAbaw® ¥ e R Had &t y1ikdr-
Options:
1)polnoenfsourth

T S B S
2) half

et &1 St

3) double

4) four times
IR & Smeeht

Correct Answer: double

Candidate Answer: double

& B St

QID : 371 - Which insulator is used on dead ends of medium voltage line?

T diees T3 & Sifa RRY W 5y fawares o1 s faar o 82

Options:

1) Shackle type

Abd THR

2) Pin type

T goR

3) Egg type

38 UbR

4) Disc type

S5 gHR

Correct Answer: Shackle type

AHd THR

Candidate Answer: Shackle type
UhR

QID : 372 - Which type of fire extinguisher is to be used on electrical equipment or installation under fire?

IgTd IUBR T RS H 3T T W 59 THR & ifimaes 73 &1 s o S g2
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Options:

1) Foam type

B UHR

2) Halon type

A UHR

3) Gas cartridge water filled type
T gad 19 B UHR

4) Stored pressure water filled type
S o UfRd aTd UbR

Correct Answer: Halon type
A TBR

Candidate Answer: Gas cartridge water filled type
Id gad 19 B UHR

QID : 373 - What is the unit of luminance?

SHfeHTar ) 3BT T 82
Options:
]:) candela

2) Lux

KEI

3) candela/m2

Hee/m?

4) m2/ candela

m?/ &

Correct Answer: candela/m?
FHeaym?

(;andidate Answer: candela

QID : 374 - Determine the power factor of 230V,0.5A,40W fluorescent lamp

230V,0.5A,40W Hfadiat & &1 =ifa ure Fufia S
Options:
1) 0.348

2) 0.438
3)0.843

4) 0.4038
Correct Answer: 0.348
Candidate Answer: 0.348

QID : 375 - Which type of circuit breaker having higher rating

59 yeR & TRUY g 1 T 3= gt 82
Options:
1) miniature circuit breaker
g aRuy faaes
2) QOil circuit breaker
aa aRuy faeis
3) air circuit breaker
g uikuy
4) vacuum circuit breaker
ufeay fadieres

Correct Answer: air circuit breaker
g ukgy

Candidate Answer: vacuum circuit breaker

fHafa ufkoy faase

QID : 376 - The function of the commutator in a DC machine is

foy urr (Sh3h.) TR A fequivad® (FrgeeR) &1 o &1 gar 82
Options:
1) to change alternating current into direct current
TEd URT &1 G oRT # Sga
2) to improve commutation
(FHgeRA) § gUR
3) for easy speed control
0T S GIH AT
4) to change alternating voltage to direct voltage
fawe deear o gga
Correct Answer: to change alternating voltage to direct voltage
JeTad! deed! &I fate deedl H Fge
Candidate Answer: to change alternating current into direct current
YRT I fae ¥RT # FEer
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QID : 377 - The voltage level of the single phase supply to residential consumer is

TR IUHIFT ¥ Uebel ot MMYfe T dlecol TR T gR?
Options:

1) 220V

2) 210V

3) 230V

4) 240V
Correct Answer: 230V
Candidate Answer: 230V

QID : 378 - A pin type insulator is made from

O TR 1 fadares fhg I o1 8T 82
Options:
1) porcelain

2) glass
T

3) plastic
W s

4) all option are correct
ft i

Correct Answer: all option are correct

Tt ey wdt §

Candidate Answer: porcelain

QID : 379 - How will you test the supply in plug point

T UTge B 3L B Siig B Bl ol 82
Options:
1) tester

2) multimeter
3) voltmeter

4) all option are correct

Tt fawed

Correct Answer: all option are correct

it fopeT Tt ©

Candidate Answer: all option are correct

ot ey wdt §

QID : 380 - Power factor correction substations consists of

RIfekT T[UTeh Qe JURERA H-
Options:
1) Rectifiers !

2) Inverters

TIREAE

3) synchronous condenser

4) Transformers

Correct Answer: synchronous condenser

Candidate Answer: synchronous condenser

QID : 381 - Energy-efficient motors generally have

Srolf-prier er § WYRUI:-
Options:
1.) longer insulatiqn

2) less vibration

FY HUA Il §

3) lower heat output
F1 S i grar @
4) all option are correct

Tt foreT Tt ©

Correct Answer: all option are correct

Tt fapeT et §
Candidate Answer: [ NOT ANSWERED ]
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QID : 382 - Material used for making knife switch is

3% f&ra s & for i yarel &1 3w fopar wimar 82
Options:
1) nickel

2) aluminium
3) brass
LI

4) nichrome
Correct Answer: brass

Candidate Answer: [ NOT ANSWERED ]

QID : 383 - Luminous efficiency of a fluorescent tube is

gfadie T Bt e qerr o gl 82
Options:

1) 5-10 lumen/watt

5-10 T/ d1C

2) 15-20 lumen/watt

15-20 &H/ d1C

3) 30-40 lumen/watt

30-40 T/ A1

4) 60-65 lumen/watt

60-65 &A1/ dTC

Correct Answer: 60-65 lumen/watt
60-65 T/ aTC

Candidate Answer: 60-65 lumen/watt
60-65 A/ dTC

QID : 384 - A fluorescent tube can be operated on

gl T BT e e famam S e 82
Options:

1) AC only

Had ACH

2) DC only

Fad DCH

3) Both AC as well as DC

AC 3R 91y & DC 3 &

4) None of these

T A BI Tol

Correct Answer: Both AC as well as DC
AC 3R 1y & DC gl #

Candidate Answer: Both AC as well as DC

AC 3R 91y & DC g H

QID : 385 - Induction heating process is based on which of the following principles?

IRUT 19 wigean g A @ e Rigid W emumia 82
Options:

1) Thermal ion release principle

g 3= i

2) Nucleate heating principle

Fhad au- R

3) Resistance heating principle

UfeRly Ao Rigi

4) Electromagnetic induction principle

Correct. Answer: EIec’gromagnetic induction principle
fagaa-geta IRu Rrsia
Candidate Answer: Resistance heating principle

TfaRry aro Rigia

QID : 386 - A perfect black body is one which

I BT HH-UT BXell 82

Options:

1) absorbs all incident radiations

S gt ammafad Rl &) sraifig et &
2) reflects all incident radiations

S Tt sufere fafgRol @ wRrafdd et &
3) transmits all incident radiations

S Tt ammafae fafdon @ eid a7

4) all option are correct

Tt fopeT Tt §
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Correct Answer: absorbs all incident radiations

St gt eafard fafdon

Candidate Answer: reflects all incident radiations

St gt siafaa fafeRor & wafda w8

QID : 387 - Low frequency supply is obtained by

FY omafa ot Smgff Y U 1 S 72
Options:
1) Motor-generator set

2) Frequency changer

3) Either Motor-generator set or Frequency changer
SRR T AT '
4) Both Motor-generator set or Frequency changer
Trex-sRex Je a1 afy aRades gt
Correct Answer: Either Motor-generator set or Frequency changer
TIeR-SeR e AT g '
Candidate Answer: Motor-generator set

HIR-SReR e

QID : 388 - A lamp of 500 watts having mscp of 1000 is suspended 2.7 metres above the working plane. Calculate illumination directly below the lamp at the
working plane.

1000 mscp dTd 500 dTC & AT B B G§ & 2.7 Hiex SR dehEl T 1 B 9§ |R AU & i 11 Uit uikeford SIvm|
Options:

1) 100.87 lux

100.87 I

2) 143.83 lux

143.83

3) 137.17 lux

137.17 4

4) 125.63lux

125.63 A

Correct Answer: 137.17 lux
137.17 I

Candidate Answer: 137.17 lux
137.17 4

QID : 389 - The impurity added to extrinsic semiconductors is of the order of

ugadt srdfarasmt & fiars TS srrgar frg Hife a7 g 22
Options:
1)1in10
1071
2) 1in 1000
1000 % 1
3) 1 in million
1
4) 1 in billion
1

Correct Answer: 1 in billion
=

Candidate Answer: [ NOT ANSWERED ]

QID: 390 -
Figure represents a
o fara & forefa war &

G \/) - "

Options:
1) zener diode

2) silicon controlled rectifier

3) tunnel diode

o d

4) junction field effect transistor
SiaR fihes Shae gifoRex
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Correct Answer: junction field effect transistor
SiaRH fihes shae giforex
Candidate Answer: junction field effect transistor

SR fihes SWhae gifoneR

QID : 391 - In case of full wave rectifier, the ripple factor is

quf g1 fRRyeRt 8, SiH-1ures 1 gar 82
Options:
1) 1.21

2)0.5
3) 0.48

4)1
Correct Answer: 0.48
Candidate Answer: 0.48

QID: 392 -
What is the method of biasing used in the amplifier
circuit shown in the figure?

= A el vrgelrhRy aiaer 7 ST &1
fora gearfa &1 sea#ATer fFar = g2

+ Vcc
Re

Ce

Options:
1) Fixed bias
aa I
2) Collector to base bias
TIES U YR TH
3) Emitter bias
Eleis)
4) Self bias
I 9
Correct Answer: Collector to base bias
TUTES I YR I
Candidate Answer: Collector to base bias
TURH § YR I

QID : 393 - An amplifier is used to obtain

T IS R & AT THICHBRR &7 SR {331 STaT 82

Options:

1) an increased voltage, current or power of an input signal

g qe Rra o1 aftfa i, YR a1 Xifad Ut $vA & fag

2) alternation of the input signal

g1ge fywre uRafda & & forg

3) an amplification of frequency response of a communication signal
TR R @t gy ufafear & waeH & g

4) a distortion less reproduction of radio signals

e Rwa & fEuudE gredred &

Correct Answer: an increased voltage, current or power of an input signal
g e REra o1 aftfa diee, yRT a1 Mifad Ut $vA & fag

Candidate Answer: an increased voltage, current or power of an input signal

gYe Rwrd &1 affd dieew, uRT a1 S Tt v & fore

QID : 394 - The function of the emitter bypass capacitor in CE amplifier is

CE THITRR § Isics STSUT YR T o1 1 Biell 82
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Options:

1) provide a low resistance path for the AC signals

AC R & ot &9 UfeRly &1 9y UgH &=l

2) provide high resistance path for the AC signals

AC R & forT 3= UfeRiY 7 9 UG &=l

3) act as a low resistance path for the DC signal

DC R & o &9 Ufekly & 9 & =0 § SR Bl

4) provide short circuit path for the DC signal

DC R & forg @y uikoy veM &=

Correct Answer: provide a low resistance path for the AC signals

AC Ra & forg &1 UfeRiY &7 9y ueM &A1

Candidate Answer: provide short circuit path for the DC signal

DC R & forg og aRuy wa &

QID : 395 - Synchronizing power of a synchronous machine is

TBIS TR B gegarel Afaa-

Options:
1) directly proportional to the synchronous reactance

2) equal to the synchronous reactance
& R Tt &
3) inversely proportional to the synchronous reactance

4) None of these
T A I T

Correct Answer: inversely proportional to the synchronous reactance

Candidate Answer: inversely proportional to the synchronous reactance

QID : 396 - The normal starting methods that is used to start a synchronous motor is

TIPS HIeR BT ARH B P fo1T JTYRUG: b UGl BT 3%HTa o wimar 82
Options:

1) Star-delta starter

TR-STT TR

2) Damper _wi_nding

STHED AT

3) Resistance starter in the armature circuit

TR ufky & gfekly IR

4) Damper winding in conjunction with star-delta starter

WR-Sw] WK & HaleH | e afer

Correct Answer: Damper winding in conjunction with star-delta starter
WR-3 WK F Yo H sarie arsfem

Candidate Answer: Damper winding in conjunction with star-delta starter

TR-I] TR S Ao | e argfET

QID : 397 - At what condition synchronous motor can be used as a synchronous capacitor

g a1 § JeaspIierd e &1 AT Jeadiicis SuTa & &0 # faar S T 82
Options:
1) under-loaded
ST UG S(awT
2) under-excited
3T JITT SR
3) over-loaded
AT
4) over-excited
Jford SraRAT
Correct Answer: over-excited
S{ARIT
Candidate Answer: over-excited

3fa I s

QID : 398 - Synchronous motor do not have self-starting property because

TIPS Hiex H W-3RY T[0T -1} g¥ell, Fifep-

Options:

1) starting winding is not provided on the machines

=i & emnft aEfET UeM e &t S

2) the direction of rotation is not fixed

ol @1 fgmm Freffed 72 g

3) the direction of instantaneous torque reverses after half cycle
31ef ap & d1e Al sargul ot foxm faudd g o 8

4) starters cannot be used on these machines

S A=A WY &7 3% o T o gabd

Correct Answer: the direction of instantaneous torque reverses after half cycle

31ef =Ieh % ST AT SIeTyUl 1 fae i g o &
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Candidate Answer: the direction of instantaneous torque reverses after half cycle

e = P S1E dIiTOrs SeygUl @ faRn Rudia 8 e &

QID : 399 - The over-excited synchronous motor takes

iy AT geaafere Hiex A-
Options:
1) leading current

SR ¥RT Tgad Bt &
2) lagging current

Tyl YR Tga Bl &
3) both leading current and lagging current
HRT 3R U 4R 1 wged et §
4) None of these
3T A PIE el
Correct Answer: leading current
SR URT Tgad Bt &
Candidate Answer: leading current

4T g Tl

QID : 400 - The maximum power developed in a synchronous motor will depend on

TSRS Hex | I s Wi o W R ot 82

Options:

1) the rotor excitation and supply voltage

Hufes IoH 3R SMff dieest

2) the rotor excitation, supply voltage and maximum value of coupling angle
uies Iror, Sl dieest SR g B0 BT SHmad T

3) the supply voltage only

Pad Y[ alees

4) the rotor excitation only
Fad Yuid I
Correct Answer: the rotor excitation, supply voltage and maximum value of coupling angle

Yufes IoH, SMYf dieesT 3R T BHI0T 7 SHfRIbad A

Candidate Answer: the rotor excitation and supply voltage
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